The School Board of Miami-Dade County, Florida Bid No.

### Land market and

CARBONLESS AND SPECIALTY PAPERS

BID PROPOSAL FORM (FORMAT B)

Type or print the complete name of the bidder in this box; Bid No. 012-JJ05

Buver: Gladys Forero-Beltran

	Buyer: Gladys Forero-Beltran			l			•					
ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT		GLOBAI	ASSOC.		MA	CPAPERS	1	LIMIT	SOURCE
	If bidding other than the Approved Brand(s), bidder(s) may be required to submi BE SUBMITTED ONLY UPON WRITTEN REQUEST FROM THE BUYER. See Bid Pro	samples. SAMI	PLES SHALI		LIFIED WHEN VE TO SEND SAMPL	NDOR DECLINED				DIDWIGO		
	GROUP I: All items in this Group will be awarded on a total low bid basis. Vendor must bid all items. Items 1 to 8							101.00 TO		BID WAS C	UALIFIED, REQUI	RED MIN. ORDER
	CARBONLESS PAPER - 2 part reverse, pre-collated, 8-1/2"x 14"basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary (Packed 5,000 sheets per carton).	110	Carton	\$71,98	\$7,917.80	APPLETON PAPERS 1902	\$75.14	\$8,265.40	GLATFELER EXCELW/NATURE SOLV#16558	\$69.55	\$7,650.50	APPLETON PAPERS #1902
	Approved Brand: MeadWestvaco "Excel® Heavyweight" #16558 or equivalent Sample required for testing: 2 cartons with corresponding technical specification sheets					-			202011,0000	·		
2	CARBONLESS PAPER- 3 part reverse, pre-collated, 8-1/2" x 14", basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink (Packed 5,000 sheets per carton)	150	Carton	\$80.53	\$12,024.00	APPLETON PAPERS #1916	\$84.86	\$12,729.00	GLATFELER EXCELW/NATURE SOLV#16604	\$77.81	\$11,671.50	APPLETON PAPERS #1916
	Approved Brand: MeadWestvaco "Excel® Heavyweight" #16604 or equivalent		-	751,500 Shts Total	.0160 Per Sht	5010 Shts/Ctn			SOLV#16604	751,500 Shts Total	.0155 Per Sht	5010 Shts/Ctn
	Sample required for testing: 2 cartons with corresponding technical specification sheets						· • • • • • • • • • • • • • • • • • • •		•	,		
3	CARBONLESS PAPER- 4 part reverse, pre-collated, 8-1/2" x 14", basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink/Gold (Packed 5,000 sheets per carton)	50	Carton	\$85.68	\$4,284.00	APPLETON PAPERS #1931	\$90.70	\$4,535.00	GLATFELER EXCELW/NATURE SOLV #16605	\$82.78	\$4,139.00	APPLETON PAPERS #1931
	Approved Brand: MeadWestvaco "Excel® Heavyweight" #16605 or equivalent											
	Sample required for testing: 2 cartons with corresponding technical specification sheets											
4	CARBONLESS PAPER- 5 part reverse, pre-collated, 8-1/2" x 14", basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink/Gold/Green (Packed 5,000 sheets per carton)	50	Carton	\$88.18	\$4,409.00	APPLETON PAPERS #1943	\$93.12	\$4,656.00	GLATFELER EXCELW/NATURE SOLV#60452	\$85.20	\$4,260.00	APPLETON PAPER #1943
	Approved Brand: MeadWestvaco "Excel® Heavyweight" #60452 or equivalent											
	Sample required for testing: 2 cartons with corresponding technical specification sheets			·								
		<u>.</u>										

## Bid No. CARBONLESS AND SPECIALTY PAPERS

	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT		GLOBA	L ASSOC.	T					
5	CARBONLESS PAPER- 2 part reverse, pre-collated, 8-1/2" x 11", basis weight: 20 ib. Each part (500 @ 17"x 22"), White/Canary (Packed 5,000 sheets per carton)	1,100	Carton	\$57.4			\$58.7			\$55,56		APPLETON
	Approved Brand: Mead Westvaco "Excel® Heavyweight" #16557 or equivalent								SOLV#16557		\$01,034.0	PAPER #1
	Sample required for testing: 2 cartons with corresponding technical specification sheets											
1.	CARBONLESS PAPER- 3 part reverse, pre-collated, 8-1/2" x 11,"basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink (Packed 5,000 sheets per carton)	1,100	Carton	\$64.26	\$70,686.00	APPLETON PAPERS #1917	\$66.2	9 \$72,919.00		\$62.09	\$68,299,00	APPLETON
	Approved Brand: MeadWestvaco "Excel® Heavyweight" #16602or equivalent								SOLV#16602			PAPER #19
	Sample required for testing: 2 cartons with corresponding technical specification sheets											
	CARBONLESS PAPER - 4 part reverse, pre-collated, 8-1/2" x 11", basis weight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink/Gold (Packed 5,000 sheets per carton)	330	Carton	\$68.29	\$22,440.00	APPLETON PAPERS #1932	\$70.86	\$23,383.80	GLATFELER EXCELW/NATURE SOLV#16603	\$65.98	\$21,780.00	APPLETON PAPER #193
9	Approved Brand: MeadWestvaco "Excel ® Heavyweight" #16603 or equivalent  Sample required for testing: 2 cartons with corresponding technical specification sheets			1,650,000 Shts Total	.0136 Per Sht	5010 Shts/Cs			0021#10003	1,650,000 Shts Total	.0132 Per Sht	5010 Shts/Ct
ηw	CARBONLESS PAPER: 5 part reverse, pre-collated, 8-1/2" x 11", basis veight: 20 lb. each part (500 @ 17" x 22") White/Canary/Pink/Gold/Green (Packed 5,000 sheets per cards)							·				
	5,000 sheets per carton)  Approved Brand: MeadWestvaco "Excel ® Heavyweight" #60371 or equivalent	220	Carton	\$70.09	\$15,419.80	APPLETON PAPERS #1942	\$72.75	\$16,005.00	GLATFELER EXCELW/NATURE SOLV#60371	\$67.72	\$14,898.40	APPLETON PAPERS #194
s	iample required for testing: 2 cartons with corresponding technical pecification sheets									#1-8 MINIMU	M ORDER PER LI	NE ITEM: 12C
T	OTAL FOR GROUP I				\$200,408.60					MUMINION CL2	PER ORDER: 60, CREMENTS OF (	CAN BE MIXE
					7200,400.00			\$207,074.20			\$178,894.00	

ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOC.		MAC	CPAPERS		
	GROUP II:  All of the items in this Group will be awarded on a total low bid basis. Vendor must bid all items. Items 9 through 18.			NO BID FOR THE REST OF LINE ITEMS		MAC	PAPERS	NO BID FOR THE REST OF LINE ITEMS	OURCE
9	PAPER - Gloss, Cover, laser compatible, 8-1/2" X 11", basis weight: 80 lb. (500 @ 20" X 26"), approximate Brightness: 88, approximate Opacity: 98, minimum caliper:3. mil (Packed 2,000 sheets per carton)	550	Carton		\$55.12	\$30,316.00	NEWPAGE BLAZER DIGITAL #81584	HEMO	
	Approved Brand: Mac Papers "Mac Gloss" #S64739/Blazer #Y1613, Stora Enso Blazer Digital #81584 or equivalent.								
	Sample required for testing: 2 cartons with corresponding technical specification sheets  PAPER - Gloss, Text, laser compatible, 8 1/2" X 11" basis weight: 80 lb. (500 @ 25"	·							
10	(Packed 4,000 sheets per carton)	220	Carton		\$59.15	\$13,013.00	NEWPAGE BLAZER DIGITAL #81579		
	Approved Brand: Mac Papers "Mac Gloss" #S64814/Blazer #Y1608, Stora Enso Blazer Digital #81579 or equivalent.								
·	Sample required for testing: 2 cartons with corresponding technical specification sheets								
11	PAPER - Gloss, Cover, laser compatible, 11" X 17,"basis weight: 80 ib. (500 @ 25° X 38"), approximate Brightness: 88, approximate Opacity: 98 ,minimum caliper: 3.5m (Packed 500 sheets per carton)	330	Carton		\$55.12	\$18,189.60	NEWPAGE BLAZER DIGITAL #81585		
	Approved Brand: Mac Papers "Mac Gloss" #S64740/Blazer #Y1614, Stora Enso Blazer Digital #81585 or equivalent.								
	Sample required for testing: 2 cartons with corresponding technical specification sheets					[1	M Shts/Ctn		
	PAPER - Gloss, Text, laser compatible, 11" X 17" basis weight: 80 lb. (500 @ 25" X 38"), approximate Brightness: 88, approximate Opacity: 94, minimum caliper:7.3 mil (Packed 2,000 sheets per carton)	220	Carton		\$57.30	\$12,606.00	NEWPAGE BLAZER DIGITAL #81581		
	Approved Brand: Mac Papers "Mac Gloss" #S64730/Blazer #Y1610, Stora Enso Blazer Digital #81581or equivalent.					5			
	Sample required for testing: 2 cartons with corresponding technical specification sheets	The state of the s							

#### Bid No.

ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOC.	MACPAPERS	
13	PAPER - Gloss, cover, laser compatible, 8 1/2" X 11", basis weight:100 lb., approximate minimum brightness: 88, approximate opacity: 98. (Packed 1,500 sheets per carton).	220	Carton		\$56.93 \$12,524.60 NEWPAGE BLAZER DIGITAL #81586	UNISOURCE
	Approved Brands: Mac Papers "Mac Gloss" #S64741/Blazer #Y1613, Stora Enso Blazer Digital #81586 or equivalent.					
	Sample required for testing: 2 cartons with corresponding technical specification sheat	S				
14	PAPER - Gloss, cover, laser compatible, 18" X 12"basis weight:100 lb., approximate minimum brightness: 88, approximate opacity: 98, (Packed 750 sheets parton).	170	Carton		\$59.15 \$10,055.50 NEWPAGE BLAZER DIGITAL #81267	
	Approved Brands: StoraEnso Futura Laser #80944, Mac Papers #064750 or equivalent.					
	Sample required for testing: 2 cartons with corresponding technical specification sheets		·			
15	PAPER - Gloss, text, laser compatible, 18" X 12"basis weight:100 lb., approximate minimum brightness: 88, approximate opacity: 98. (Packed 1500 sheets per carton).	440	Carton		\$62.36 \$27,438.40 NewPage Blazer Digital #80943	
	Approved Brand:StoraEnso Futura Laser #80943 or equivalent.					,
	Sample required for testing: 2 cartons with corresponding technical specification sheets					
10	PAPER - Gloss, text, laser compatible, 8 1/2" X 11"basis weight:100 lb., approximate minimum brightness:88, approximate opacity: 98. (Packed 3000 sheets per carton).	440	Carton		\$55.46 \$24,402.40 NEWPAGE BLAZER DIGITAL #81582	
ľ	Approved Brands: Mac Papers #S64720/Blazer #Y1611, Stora Enso Blazer Digital #81582 or equivalent.  Sample required for testing: 2 cartons with corresponding technical specification sheets		-			
	2 Cartons with corresponding technical specification sheets					
17-	PAPER - Gloss, text, laser compatible, 11" X 17"basis weight: 100 lb., approximate minimum brightness: 88, approximate opacity: 98. (Packed 1500 sheets per carton).	50	Carton		\$54.07 \$2,703.50 NEWPAGE BLAZER DIGITAL #81583	
8	Approved Brands:Mac Papers # S64726/Blazer #Y1612, Stora Enso Blazer Digital # 81583 or equivalent.					
9	Sample required for testing: 2 cartons with corresponding technical specification sheets.					
10 10	PAPER - Gloss, cover, laser compatible, 11" X 17,"basis weight: 100 lb., approximate minimum brightness: 88, approximate opacity: 98. (Packed 1500 sheets per carton).	100	Carton		\$56.93 \$5,693.00 NEWPAGE BLAZER DIGITAL #81587	
s	Approved Brand: Mac Papers #S64742or equivalent.  Sample required for testing: 2 cartons with corresponding technical specification heets.				750M Shts/Ctn	
1	TOTAL FOR GROUP II				\$156,942.00	

ITEN	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOCI			
	GROUP III:	QUANTITI		GLOBAL ASSOC.		MACPAPERS	UNISOURCE
	All items in this Group will be awarded on a total low bid basis. Vendor must bid all items. Items 19 through 32.						
19	PAPER - 8-1/2" x 11", Bond, basis weight: 20 lb. (500 @ 17" x 22"), assorted spectrum of colors, smooth finish, acid free, laser and ink jet guaranteed (Packed 5.00 sheets per carton)	0 110	Carton		\$37.95 \$	\$4,174.50 WAUSAU EXACT	
	Approved Brand: Wausau "Exact® Multipurpose" #32521 or equivalent*						
	Sample required for testing: 2 cartons with corresponding technical specification sheets						
20	PAPER - 8-1/2" x 11", Bristol, basis weight: 67 lb (500 @ 22 1/2" x 28 1/2"), vellum finish, assorted spectrum of colors, acid free, laser and ink jet guaranteed (Packed 2,000 sheets per carton)	170	Carton		\$34.31 \$	.5,832.70 WAUSAU EXACT	
	Approved Brand: Wausau "Exact® Vellum Bristol" #82441or equivalent*						
	Sample required for testing: 2 cartons with corresponding technical specification sheets						
21	PAPER - 8-1/2" x 11", Text, basis weight: 60lb.(500 @ 25" x 38") bright colored, assorted spectrum of colors, smooth finish, acid free, laser and ink jet guaranteed ((Packed 5,000 sheets per carton)	110	Carton		\$72.60 \$7	7,986.00 WAUSAU ASTROBRIGHTS	
	Approved Brand: Wausau "Astrobrights® " #22631 or equivalent*						
	Sample required for testing: 2 cartons with corresponding technical specification sheets	-					
	* <u>Items 19, 20 and 21</u> : If quoting other than Approved Brands, Bidders <u>MUST</u> subn spectrum of colors available together with Bid Proposal. Failure to do so, may car considered non-responsive.	nit color chart in	ndicating be				

ITEM	DESCRIPTION OF ITEM	ESTIMATED	ſ			
<u></u>		QUANTITY	UNIT	GLOBAL ASSOC.	MACPAPERS	UNISOURCE
22	PAPER - 8-1/2" x 11", Bristol, basis weight: 67 lb. (500 @ 22 1/2" x 28 1/2"), approximate minimum Brightness: 90, vellum finish, Color: White, acid free, laser and link jet guaranteed (Packed 2,000 sheets per carton).	400	Carton		\$32.36 \$12,944.00 WAUSAU EXACT #82211	
	Approved Brand: Wausau "Exact® Vellum Bristol" #82211or equivalent					
	Sample required for testing: 2 cartons with corresponding technical specification sheets					
	PAPER - 8-1/2" x 14", offset, basis weight: 70 lb. (500 @ 25" X 38") smooth finish, approximate minimum Brightness: 92, Opacity: 94, Color: White (Packed 4,000 sheets per carton)	110	Carton		\$54.75 \$6,022.50 I.P. WILLIAMSBURG	
	Approved Brands: International Paper "Williamsburg Plus Offset" #05336 or equivalent				#5336	
	Sample required for testing: 2 cartons with corresponding technical specification sheets					
24	PAPER - 11" x 17", Offset, basis weight: 70 lb. (500 @ 25" X 38") smooth finish, grain long, approximate minimum Brightness: 84, approximate Opacity: 94, Color: White (Packed 2,000 sheets per carton)	110	Carton		\$43.03 \$4,733.30 DOMTAR HUSKY #8950	
	Approved Brands: Weyerhaeuser "Husky Offset" #8950 or equivalent					#REF!
	Sample required for testing: 2 cartons with corresponding technical specification sheets	·				
	PAPER - 8-1/2" X 11", Offset, basis weight: 70 lb(500 @ 25" X 38") Color: White, smooth finish, approximate minimum Brightness: 84, Opacity: 94 (Packed 4,000 shee per carton)	440	Carton		\$40.28 \$17,723.20 DOMTAR HUSKY #5463	
	Approved Brands: Weyerhaeuser "Husky Offset" #5463 or equivalent					#REF!
	Sample required for testing: 2 cartons with corresponding technical specification sheets	·				
26	PAPER-11" x 17", Offset, basis weight: 60 lb. (500 @ 25" X 38") Color: White, smooth finish, approximate minimum Brightness: 84, approximate Opacity: 92, (Packed 2,500 sheets per carton)	220	Carton		\$46.13 \$10,148.60 DOMTAR HUSKY #8947	
	Approved Brands: Weyerhaeuser "Husky Offset" #8947or equivalent	-				
	Sample required for testing: 2 cartons with corresponding technical specification sheets		Address			

# The School Board of Miami-Dade County, Florida Bid No. CARBONLESS AND SPECIALTY PAPERS

ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOC.		MA	CPAPERS	LINIC	OUDGE
21	PAPER - 8-1/2" x 11", Index, basis weight: 110 lb (500 @ 25 1/2" X 30 1/2") Color: White, smooth finish, approximate minimum Brightness: 94, acid free, laser an ink jet guaranteed (Packed 2,000 sheets per carton)	220	Carton		\$43.79		WAUSAU EXACT #49411	UNIS	OURCE
	Approved Brand: Wausau "Exact® Index" #49411or equivalent								
	Sample required for testing: 2 cartons with corresponding technical specification sheets								
28	PAPER - 8 1/2" X 11", Writing, basis weight: 24 lb. (500 @ 17" X 22") light cockle finsih, Color: Bright White, 25% cotton fiber, watermarked, acid lignine-free, laser and ink jet guaranteed, approximate minimum Brightness: 94 (Packed 5,000 sheets per carton)	550	Carton		\$84.46	\$46,453.00	WAUSAU ROYAL COTTON #2969		
	Approved Brand: Wausau "Royal Cotton" #29696 or equivalent								
	Sample required for testing: 2 cartons with corresponding technical specification sheets						4M Shts/Ctn		
20	PAPER - 8 1/2" x 11", Text, linen finish, basis weight: 80 lb. (500 @ 25" X 38") Color: Solar White, laser and ink jet guaranteed, approximate mimimum Brightness: 97 approximate Opacity: 91 (Packed 4,000 sheets per carton)	20	Carton		\$146.52	\$2,930.40	NEENAH CLASSIC LINEN #6191		
	Approved Brand: Neenah Paper "Classic® Linen" #06191or equivalent								
	Sample required for testing: 2 cartons with corresponding technical specification sheets								

ITEN	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOC.	MA	CPAPERS	UNISC	DURCE
30	PAPER - 8 1/2" x 11", Writing, Uncoated Bond, basis weight: 28 lb. (500 @ 17" X 22") Color. White, approximate minimum Brightness: 96. (Packed 4,000 sheets per carton)	200	Carton		\$64.75 \$12,950.00	DOMTAR FIRST CHOICE #85283 (DOES NOT COMPLY WITH M-DCPS SPECS)		
	Approved Brands: International Paper Hammermill® Color Copy #10246-7or equivalent					,		
	Sample required for testing: 2 cartons with corresponding technical specification sheets							
31	PAPER for laser printers, 8 1/2" x 11", basis weight: 24 lb. (500 @ 17" X 22") Color: White approximate minimum Brightness: 96 (Packed 5,000 sheets per carton)	440	Carton		\$45.38 \$19,967.20	DOMTAR IMAGEPRINTER (98 BRIGHT) #3918 (DOES NOT COMPLY WITH M. DCPS SPECS)		
	Approved Brand: Hewlett Packard "HP Laser Jet HPJ1124" or equivalent							
	Sample required for testing: 2 cartons with corresponding technical specification sheets							·
32	PAPER for laser printers, 11" X 17", basis weight: 24 lb. (500 @ 11" X 17") Color. White, acid -free, laser printing guaranteed, approximate minimum Brightness: 96 (Packed 2,500 sheets per carton)  Approved Brand; International Paper Hammermill® Laser Print #10462-0 or	200	Carton		\$48.38 \$9,676.00	DOMTAR IMAGEPRINTER (98 BRIGHT) #3939 (DOES NOT COMPLY WITH M-DCPS SPECS)		
	equivalent Sample required for testing: 2 cartons with corresponding technical specification sheet	ts						
	TOTAL FOR GROUP III				\$171,175.20			

ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL	ASSOC.		MA	CPAPERS		UNIS	OURCE
	GROUP IV: All items in this Group will be awarded on a total low bid basis. Vendor must bid all items. Items 33 through 39.								The state of the s		
li .	SHEETS - Pressure Sensitive, 8 1/2" x 11,"Color: White, <u>Facestock</u> :uncoated offset, basis weight: 60 lb. (500 @ 25" X 38") approximate minimum Brightness: 87, approximate Opacity: 90 <u>Adhesivepermanent</u> , solvent resistant, and UV resistant <u>Release Liner</u> . layflat, basis weight: 80 lb. (500 @ 25" X 38") (Packed 1,000 sheets per carton)	. 20	Carton			\$81.83		SPINNAKER STARBOARD TACK #41209			
	Approved Brand: International Paper Xpedx® Showcase #WOI01A-X or equivalent										
	Sample required for testing: 2 cartons with corresponding technical specification sheets										
34	PAPER - Chipboard, 8 1/2" x 11"approximate caliper: 0.022 mils, Color: Brown (Packed 96 sheets/bundle)	330	Bundle			\$31.16	\$10,282.80	ATLANTIC #72880			
	Approved Brand: Atlantic Paper & Twine Company "CHIP-2638" or equivalent							963Shts/Bdl			
	Sample required for testing: 20 sheets with corresponding technical specification sheets									-	
35	#10 ENVELOPES, Regular, approximate size: 4-1/8" X 9-1/2" diagonal seams with splitted gummed flaps, basis weight: 24 lb. (500 @ 17" X 22") Color: White, Finish: Wove (Packed 500 each/box; 2,500 each/carton)	1,760	Carton			\$33.93		MAC PAPERS "MPEC" #83440			
	Approved Brand: Mac Papers "Mac Envelopes #083440" or equivalent										
	Sample required for testing: 1 carton with corresponding technical specification sheets										

ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	GLOBAL ASSOC.	N	IACPAPERS	UNIS	OURCE
36	#10 ENVELOPES, Window approximate size: 4-1/8" X 9-1/2"diagonal seams with splitted gummed flaps, basis weight: 24 lb. (500 @ 17" X 22") Color: White Finish: Wove (Packed 500 each/box: 2,500 each/carton)	e, 220	Carton		\$40.46 \$8,901.2	MAC PAPERS "MPEC" #83670		
	Approved Brand: Mac Papers "Mac Envelopes #083670" or equivalent							
	Sample required for testing: 1 cartons with corresponding technical specification sheets							
37	PAPER - Kraft, Wrap, basis weight: 50 lb.(500 @ 25" X 38"), size: 18"W X 720 ft/roll (Packed one roll/pack)	20	Rolls		\$19.25 \$385.0	0 ATLANTIC #100970		
	Approved Brand: Atlantic Paper and Packaging "Kraft 18-50" or equivalent							
	Sample required for testing: 1 Roll with corresponding technical specification sheets							
38	COPIER TABS- Single Reverse collated, (5-4-3-2-1), unpunched, long grain, 11" x 8 1/2" + 1/5, index, basis weight: 110 lb. (500 @ 25 1/2" X 30 1/2"), Cut: 1/5th, Color: White (Packed 250 sheets/box)	- 110	Вох		\$60.38 \$1,328.2	SOUTHERN INDEX CO. #B110-5-SR		
	Approved Brand: IBM Premium Copier Tabs # 75P3166 or Mac Papers "Xerotab® #105489" or equivalent	***************************************				1.250 Tbs/Bx		-
	Sample required for testing: 2 boxes with corresponding technical specification sheets							
39	PEN - Deletion (for use with Silvermaster® plates) fine point (Packed 10 each/box)	30	Box		\$8.87 \$2,661.00	ALLIED #10069-SFI		
	Approved Brand: Allied Pressroom Chemistry "Silver "ImagEater #10069SFI" or equivalent				300 Ea.	Each		
	Sample required for testing: 1 box with corresponding technical specification sheets							
	TOTAL FOR GROUP IV			NO BID	\$84,911.65		NO BID	
	GRAND TOTAL				\$620,103.05			-